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Match-up:  ( 1 point each )
For each numbered term, enter the letter corresponding to the definition that best matches the term.

____ 1- Rock Unit
A- Large masses of intrusive igneous rock with irregular shapes.   
____ 2- Sills
B- Sheets of igneous rock intruded along fractures that cut through   
any existing rock.
____ 3- Dikes
C- Sheets of igneous rock that intruded along layers of sedimentary 
rocks.
____ 4- Batholiths
D- A body of rock that consists dominantly of a certain rock type, or a 
combination of types.
Short Answer:  ( 5 points each )
5:  Why is the shape of metamorphic rock units usually much more complicated than that of igneous or    

      sedimentary rock units?  ________________________________________________________________________________________________________________________________________________________________________________________ 
6:  What name do geologists give to a point or zone where one rock unit type changes to a different rock unit type? ________________________________________________________________________________________________________________________________________________________________________________________

7:  What is the difference between a sill and a dike? ________________________________________________________________________________________________________________________________________________________________________________________
8:  What kinds of rocks are laid down in nearly horizontal layers?  ____________________________________________________________________________________________
9:   What is “Layer Cake” Geology?  ____________________________________________________________________________________________

Geologic Map Activity:  (1 point each )
10:  Using the geologic map on page U 34 in the Textbook, answer the following questions:

a) What sedimentary rock is represented by the color green?  __________________________

b) What igneous rock is represented by the color red?  _______________________________

c) What metamorphic rock is represented by the color brown?  ________________________

d) What type of rock is granite?  ___________________

e) What type of rock is Schist?  ____________________

f) What type of rock is Shale?  ____________________
***   continued on back   ***

Cross-section Activities:  (1 point each letter )
11: Using the cross-section on pages U 34 & 35 in the Textbook, answer the following questions:
a) How many meters below sea-level is the shallowest sill? _____________________

b) About how many meters below sea-level is the deepest sill? __________________

c) What type of fault is the Bartlett’s Ferry Fault? ____________________________

d) What is the name of the fault that is directly below the spot between Society Hill and Marvyn? _________________________________   What type of fault is this fault? _______________________
e) How old (what geologic history era)are the two intrusive granite fingers that almost turned into volcanoes and wiped-out the town of Crawford?  ______________________________________

f) What type of fault is the Alexander City Fault? _______________________________

g) What type of fault is the Towaliga Fault?  ___________________________________
12:  How many contacts are represented in the cross-section below?  (hint: Review definition of the term “contact” on page U 36 )
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True or False:  ( 1 point each )
13:   T  /  F  :  Sedimentary rocks come from sediment layers that were originally deposited in vertical layers.

14:   T  /  F  :  Sediment layers can become vertical due to tilting, bending, and folding.
15:   T  /  F  :  Rock units vary greatly in their size and shape, depending on the processes that formed them.

16:   T  /  F  :  “Width” is another name for lateral extent.

17:   T  /  F  :  Batholiths that can be seen got that way due to uplift and erosion.

18:   T  /  F  :  Plutons are larger versions of batholiths.
19:  T  /  F  :  Geologist use explosives and earthquakes to construct cross-sections of what’s underground.
Bonus Questions:  ( 1 point each )

What was the name of the Actor who played the lead role in Universal Studio’s 1931 classic “Dracula” ?   
__________________________________________________


What country, where he got his thick, distinctive, “Count Dracula” accent, was he from?     

_________________________________________
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